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 ��	
� �

� ���������� ��� ���v���� ���
������ ��������� - 

�������� ��� �� �o �ov����o ���o (���. 2.9) ��o�o������ ��v 

o��o���
��� ����o��, ev, (�  �!�� ���
����) ��� �o ��"��� 

��o�o��o� f - ���'�
	�v. #o ���v��� �ov���o ��v�� 	
����o ���" 

��v ��� "v�� ��' �$� �o� ��� ���
" ��o ��
"�ov��� ���� 	
ov���� 

 �� ���v, �v%$��� (lift) ����"��$� ��� ����!o�  �� ���v (�	��� 

7.1), ������
�� ����
v ��������� ��� �������� (manifold). &' 

���o �o ���"���o !� ��
o������o%v �� ��
����
� ��o ���" �� 

��o�	��� ��� �
��������� ����'�
���� ��!
� !� ��v�� ��� ��� 

�������� ��o�� �����
o�� �
��o�� ��
o	������� ��� 
%!����� 

(����	o�) ��( 
'
( �o� ������o� ��� �o� ��
� (Ferguson (1986), 

Annand and Roe (1974), Stone (1985)). 

 

7.1. ����O�����	
� ������� �
V ��O�
� �	���
��� 
�	 ����
���. 

 � �

�o� v��o� ��� !�
�o��v������ ���
�o)���vo� �� �v� 

�vo���� �%����� �o� ��
"��� �
�o ��vo ��� �
�� �o� ��v��: 

*�� ���v��� ��
�o �� ���!�
�� !�
�o	�
���������� ��o
�� v� 

�
����: 

 

�� ��o!��o��� ��� ���" ��v ����"��$� ��v  �� ���( (�	��� 7.2) 

�v� ����� ������
��( '���!'	�
�� �
o� ��v �������� ��� ������v 

�v� ��o �o�� ��
'	���%���� ��o ��v �������� �
'� �'( �%��(�
'. + 


'� �
o� �ov �%��v�
o �o���v ��o�������� �
	��" ��o ������
��, 

��	
� v� o���!o	�
��o�v ��o ��v �������� o�� �� ������
�� �o� 

 (7.1)              dtQ+)dthm-hm(+PdV- = E outoutinin
�

�� ����   

                         v

1
E =  (mT) = (PV)          (7.2)C

-1�
� � �  

 



 

 

 
 7.2 

��	�( ���

�%��� ���" ��v ����"��$�. &�v��
� ��� ��v ���
����� 

��������� ��o
o%�� v� �
"$o���:  

�����
�)'(��� �o ����!o� �o� o�o���

v���� ��o �
����
o ����o� 

��� ��� ��
'�� o�o���

���� ���� ��
�v!����� ����". �� 	
ov���o� 

�'� ���	('(��� ��v��: 

io =  �� ��� ��������� �vo����   

ic =  �� ��� ��������� ����v�� 

ec =  �� ��� �������� ����v�� 

is = �������� �
���o� ������o� �
	�)�� 

#o �

�o o�o���
��� ��o ���� ����o� ��o��!���� o�� ��v�� ����v 

!��

v��� o�� ���" ��v ����"��$� � 
o� �v!������ ��o ��v o�� 

�������� �
o� �ov ����v�
o ��o

o������ ��o ��v 
o� �v!������ 

��o �ov �%��v�
o �
o� ��v ��������. #o ��%��
o o�o���
��� ��v�� 

��o �� �o �o�o ��� �v!������ �o� ���

���� ���� ��ov ����v�
o 

��o ��v o�� �������� ���" ��v ����"��$�, ���o ��� ��v�� ������ 

��o!��o��� o�� ���o �o ������
�o �����
���� �
�v ��v �
	� ��� 

�v�

������ �
���o� ������o�. ��o
o%�� v� �
"$o���: 

���"�o��� ��v �v�

o�o%��v� �")� (inducted mass): 

��� ��v �")� ������
��v �������� �o� ����
	ov��� ��ov �%��v�
o 

��o �o �%����� �������� ���" ��v ����"��$� ��(  �� ���(: 

 

                     

ic ec is ic

p pin out

io io ec is

  [(m T  - (m T ]dt = [  ] + [   ] + [   ]    (7.3)) )C C� � � �� �  

 

 

ic ec

ic ioic io p ov

io io
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i inp

is io

 -  = ( - 1)  -  PdV +  (m T  dt  + )V V CP P

                                          dt +  Q dt        (7.4)C mT
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is

 = m m (7.5) dt                                               � �  

 

 
ec

ovov

io

 = m m (7.6) dt                                               �� �  

 



 

 

 
 7.3 

,	o��� �o��ov ��� ��v o��o���
��� ����o�� (Ferguson, 1986): 

-�
���
���� o�� ��� � �����o
" !�
������� ��� � �v������ ��
��( 

���" ��v ����"��$� �����
vo�v ��v o��o���
��� ����o��. �� 

!��
��o��� �

� ��� ��
������ ���" ��v o�o�� o� ��
o��� ��� 

��	�v�� ��v�� 	������ 0R s 
 . #��� ��o
o%�� v� ��o!��o��� o�� 

� ��
�� ������ ��� ���o� ��v  �� ���(v ��v�� ����v��� ���: 

������ov ��o �o ���"���o 1.5 ��� 0
2l

s
 = 
� , o ���o� �o� ����v�
o� 

��v���� ��o ��v �	���: 

o�o� ! ��v�� � ��v�� �o� ��
o�"�o� ���
���v� ��o �o TDC. #����" 

��� "('��� ��� ���
��� ��� ��v o��o���
��� ����o�� (Ferguson, 

1986): 

�( !��
��o��� �

� ��v ���
����� �������� ���� ��� �������� 

�v�
����� ��� ��� ������������ �������� ��� "('���: 

 

+ o�o���
��� ��v���� ��vo ��	
� �o 	
ovo �o� �vo���� �  �� ��� 

 (7.7)     
VP

m
 

T

T
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Q
 

1-
 - 

VP

PdV
  

1-
 + 

VP

VP - VP
 

1
 = e

di

ov

i

ov

didi

ic

iodi

ioioicic
v �

�
�

�
� �  

 

 (7.8)                          0)R(     P = P    ,P = P seioiic 
   
  

 cos 9
o

V r - 1
 = 1 + (1 - )    ( 0)                            (7. )

2V
� � 
  

 

 

cos cos
cos

0

e

io ic i

v io

ov ov

i id di

P
 - 1

 - r - 1P
 =  -   1 +  (1 - )e

2 (r - 1) 2

      

               (7.1 )

      

- 1 Q mT
                                      -   -  

V VP T

� �
�

�

�
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��
� � � �� �

� �� 	

 

 

 exp .11

1
io

iio io e

eoeo eo eo

QVm P
f  =  =      dt                         (7 )

P VVm P

� ����
��� �

� � � �
�
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 7.4 

��������� ��!
� ���" ��v ����"��$� ��o��!���� o�� �o �o�� �o� 

��
�o� �o� ��
v"�� ���v �������� �����
���� ������(. -�
���
���� 

o�� � ��
���� !�
������� ���"v�� �o ��"��� ��o�o��o�. ����� 

��v�� �v�� ���o� ��� ��� ����o
�� �����% ��o�o����
v �'(����( 

��� ���
������
( ���o��v�v ��o�� �%��o�� ������o�-��
� �� 

���v��� ���
����� ���������/��������. 

 

7.2 �O� ���
 �
� ����	�
� 

  *�� v� ��o�o���o��� ��v ��
�� ������ ��� "���� ��
����
o�� 

���" ��v 
o� ��v ��
��v ���� ��v �����
�v �vo���"��v ��v 

 �� ���( (� !�
���() ��o
o%�� v� !��
��o��� ��v 
o� �ovo��"����� 

��� �����(���. ��� ������ ������
��  �� ���� ������� ��o �	��� 

7.3. ��o ��v ��
�o��v����� �v�
�)o��� ��� ��������� 
o� ���� 

venturi o�� � 
o� �")�� ������� ��o �ov �%�o: 

��o� �o u �v���
���� ��o �v"v�� ��� 
o�� (d=����v��) ��� �o 

A*(=Cd.A1 � Cd.A2) ��� ���v
��
� ����o�� ���" �� �������� �o� 

��
�o�. #o l ������� �v%$��� (�	.7.3) ��� ��� ��v�!�� ���� 

�	������o% ��v�� ��
��o� 0.25d. To 
u ��v�� � ���v����� 

���v����, �o Cu � ��	%���� �o� �	o� � �TR= u�  ��� �o .* o ���o� 

��� ������ ��o �* �
o� ��v ����� ���v���� (�v"v��) ��� 
o�� 

������o� �o� �*. + ������� 7.14. ��o!���� ��������� ���v�
o���� 


o� ��� o� ��v!���� �v"v�� ���
�
v��� ��o �o �v !��
o%�� ��v 

�������� � ��v �������. 

+ ������� 7.14. ��	%�� o��v ��
�

�
��
�

�
�

1+

2
  

P

P 1-

u

d

�

�
�

 o���� � 
o� ��v�� ��v�o% 

��o�	����� ��� ��o�
�����. ���v ��� ��v�� �o �v��!��o ������ 

��
�

�
��
�

�
�

1+

2
  

P

P 1-

u

d

�

�
�

�o�� �	o��� ��
��������� ��ov ����� (�*) ��� 

���
�
����� 
o�. #o�� ��
�

�
��
�

�

1+

2
 = P

1-

* �

�
�

 ��� � ���
	���v� �")� ��v��: 

                   

2 +1

*
u * *u

2
m =  -                           (7.14)C A P P

-1

�
� �


�

� �
� �
� �� 	

�  

 



 

 

 
 7.5 

*�� �� ��
���������v� 
o� ��o!��o��� ����� ��o �* ��� �� ��v 

����� ��ov ����v�
o ���" ��v �������� (Obert, 1973). ���" ��v 

������� !��
o��� o�� � ����� ��o ����o ��v�� ��� �� �� ������� 

����� ���v o�� ���" ���� �����
�� ����v���� ��o ��v ����� 

���v���� ��� o���. #o ��vo��vo Cd.A1(2) ��v�� �o ��vo��vo �o� 

��v������� ��
o�� ��� ��� ����������  �����v���� �vo�����o� ��� 

 �� ���� ��� ������� �v�
�o� �����v��� (Cd/f(l/d, Re, P). 0���� 

��
����
o� �o� 	
����o�o�o%v��� ��v�� ��� ��vov��o�o����v� ���� 

�����v��� �
�

���
d A 

 - 

1
 = A

*

ioic

i

ic

io

�  ��� ��v �������� ��� ��� ��������
��� 

��
"���
o� ���o���v� ������� Mach (Taylor, 1968, 1977)) 

o
�)o��v� ��: 
C A

U b 
4 = Z

ii

p,

2

max

�

, �o� ���
�)�� �o�� !� �
���� v� ��v�� 

� ���� ��	%���� �o� ��
�o� ���� ���  �� ���� ��������� ��� v� 

�	o��� ���
����� ����v�
o� ���� ������
���v�� ��
o���. �v ��(�� 

�o ����!o� ��v  �� ���( ��������� ���������� ��� ��  "�� ��� 

�������� ��	%����� �o� �� o�o� ��� ��v o�o�� � ��	�v� ��v�� 

�	�������v� (��v�!�� �� 1/0.6). -.	. �v ������o��� �����v� �� �o 

�	��� 7.5.
p2

i ii

i

U
Z = 0.6   = 1.3      ( = )CbA RT

C
�� . ������ov ��� ��o�o���� 

��
o� ��v ������
��( ��� o�  �� ���� �������� �	����)ov��� �� 

1/0.6 o�o�� ��	%�� 
T

T
 = 

C

C
  

A

A = 
e

i

e

i

i

e �� . �� ������� ����� �o� � ��� 

���	
ovo�� ��v���
�� �����vov��� ��o 0.7 �� 0.8, �	��� 7.4. 

 

7.3 �	��ON�� ����N�� 

 &��� ��	
ov�� ��	�v�� ��v ���
��� ��� ����v��� �o� 

����v�
o�, ���" ��v�v�, 
�!��)�� � "v� ���� �o� �� o�o� �o� 

��o�������� � ���%���� �	������ !�
���� �o�o!�����v�� ���v 

��
"����
� �����v��� �o� ����v�
o�. ,��� � �v������ ��v ��
��( 

��v���� ��v�o�� ��o �����v��� ��v!���� �o� ��!���o�v ���
������ 

               

+1

-1
u*

u*

u

2P
m =  =   R                    (7.15)m A T

R +1T

�
�

�
�

� �
� �
� �

� �  

 



 

 

 
 7.6 

��  ���� ���
��� �o� ����v�
o� �� ��  o�!��� �v����� (�� �o�� 

���
�� ��	�v�� 	
�� �v����� ������� o ��
o���o!����o� ���" �o� 

�� o�o�) �"
���� �o� ��o

o�� �o�����o ��	�v��o �
�o. 2���o
�� 

����"���� �"
���� ���	vov��� ��o �	��� 7.5. + �������� �"
��� 

��
o����)�� ��v ���%��
� �o
��� �o� ��
� �v� � ���"
��� ��� 

����� ���� �v�����. � -�v���� 7.1 ����� ��v o
o�o��� ����o�
���� 

���� ��	
ov�� ��	�v�� ���" S�� ��� ��	%�� ��� ��	�v� �� ��	��� 

������o�. *�� ��	�v�� �� �v�

o���� �o� ������o� (��)� �� �ov 

��
�) � ���� ����� !� �v������������ �� ���� ��
� ��� � ���� 

���vo���� ������o� �� ����� ��� !�
�o�
���� ��
� ���ov�o� !� 

�v������������ �� ���� ���vo���� ��
� "��ov�o� (��
� "��ov 

�v���
���� ���� ��v!���� �o� ����
��o%v �� �"�o�o �����o ��� 

���������). 

 �� �
o� ����o��� �"
����, ���
���� ��� � ��!�
���� 

���
")o�v �o  �!�� �����	o%� ����!"
���� ��v ��o�o���v 

������
��(v ��� �ov �
o��o%��vo �%��o. ,(� ��"�
���� 

��'�'��������� ��� �"
���� ���(���� ��' �	��� �	��� 7.6. 

 

 

7.4  �����	
��� (CARBURETORS)  

 �� ����
����� 	
����o�o�o%v��� ���� "o�o�o��vo%� ������o�" 

��	�v�� ��� ��v 
%!���� �o� o�o�o��vo%� ������o� ������o�-��
� 

�� ��� ���v� ��
�o	� �v������� (�o� ��
���� "v�� ��v 

��o�	��o���
��� ����, � o�o�� �v����o�	�� �� ���o ��)
( 

��
�/��%���o, �/F»15:1) �o� ��v�� ���
������ ��� v� ��v�� � 

�v���� �� ���v!�
� ��� v� ����o!�� � �����. ������ o� ����
����� 

�����
��o%v ��v ��"����� ������ ������o� �� ����ov���� �� o�o�� 

������)ov��� �
��o
�. ��� ������ ��"���� ����
���� ���	v���� ��o 

�	��� 7.7. 

 #o ��%���o ��o	�������� ���v ������v� (3), ����  �
%����� � 

������� �v����� ��� �����
�� ���!�
� ��"!�� ���� �����
�, ��o 

���o����
��� ����� P�. 3�o ��v ����
��� ��� ����o
�� ������� P1-

P2, �o� o�������� ���v 
o� �o� ��
� ���� �o� Venturi (2), �o 

������o �v� �%)�� ��' �'
�� ������ (jet �o� � ��
o	� �o� 

���
�"��� ��o ��v ���
����� �������) ���
�� �	����" ��	%����� 

��o �o ��
o����o. + 
o� �o� ��
� ��v�!�� 
�!��)���� ��o ��v 

�v�

o������ �
"�� �o� �� o�o�. + ��
o	� �o� ��
� (��� �o� 



 

 

 
 7.7 

������o�), �� ��� o�o��� ���
�"��� ���" Bernoulli � ����o
� 

������, ���� "������ ��� 
�!��)���� �� ��v ��
����������� 

�������� (4) (�����o���, throttle). �o�� ��� ���
�� ������ ��o 

����� �o� ��	���
�, � ��
��� ����� (�o� ��vo�o�) ��v ���
v ��� 

 �v)�v�� ��v�� �o�� ���
� ��� � �v����o�	� !�
�o�
���� ��"������ 

���" ��vov� ��v�� 	�������
� ��� !�
�o�
����� �o� ��
�. 4� �� 

�o��o� �� ����ov���� ��� o�o�� �����"��� �o jet �o� ������o� 

������)ov���. K��" Prandtl � ������� ������
o� ����ov���o� �o� 

��o
�� v� �����
�!�� �� �v� 
�%�� ��
� ��v�� 

u
2

1
 7.7 = d

2

f

��


�
max  (o�o� 

�f ��v�� � �����v����� �"��) ��� ��v��
� � ��	%��� �o� ��
� 

��'�� ���'%� ��������� ��� "���� ����v���" ���v ��"����� ��v 

�����v�v. 3�o!���v��� ���!�
� ��������� 
o� ���� �o� ����
���� � 


o� �o� ��
� ������� ��o �ov ���o, (Ferguson, 1986): 

o�o� A
*
�  � �v�
�o� ����o�� �o� Venturi (��v��o�o��)ov��� ��v 

��"����� �o�� �o� ��
o����o� ������o�). + 
o� �o� ������o� 

��v��: 

&����v� �� �ov Obert (1973) o ��v�������� ��
o�� CD ( A
*
f =CDAeff, 

o�o� Aeff=����o�� ��� ���
������ �������� ������o�) ��� ������ 

������� ����
����v ��v�� /0.75). 

 ��� ��
����
o� �o� ��	v� 	
����o�o������ ��ov ��o�o����o 

��v ����
���
( ��v�� � ��������. + ����%�� ������'� � �������� 

(fuel curve � demand) �o� ����
���� �o� o
�)���� ��v �ov �o�o 

��� ��
�o
o�� ����o�
���� �
o� ��v ��
���������v� (�������) 

��
�o
o� ��o Venturi ��� ��� ��	�o�v o� ��
����� �	����� 

(Ferguson, 1986). + ��
���������v� 
o� ������� ��o ��v ���
���: 
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2 +1

2 2*
2 P P

 =       -               (7. )Cm A
- 1 P P

�
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�� 

�

��
� �

� �� �� �� �� � � �� �� �� �� 	
�  

 

 16f 2f f
 =  2  (  - )                              (7. )m A P P
 ��  
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 7.8 

��� ��v���� � ��������, DC , ��o
�� v� ���
��!�� �� (�=1.4): 

��� 0 � DC � 1. ������ o �o�o� ������o�-��
� ������� ��o ��v 

�	���: 

+ ����o�
��� ���������v ����
����v ��v�!�� ��
��
"����� ���� 

����
���"��v, F=f(Dc), �	��� 7.8, �(
 ��' �	��� 7.9 ���(���� �' 

��"�
���� �(�� ����
���� �(�
�%���'�. 

 

7.5 ������ 
���	�O� 

 �� ����
����� ����ovo�o�o%v ��� ������)o�v �o ��%���o 

 ���)���vo� ���v �	����� ��	%���� ��
�-�����v�v ��� 
�!��)o�v 

��v ��
o	� ������o� ��� ��v ��
o	� �'� ��
�. ���" ��( ��	��� 

������o� � ��	%���� �o� ��	����vo� ������o� ��v�� �o�% 

�����%��
� ��o ��v ��	%���� �o� ��
� (��� v� ����o�
��!o%v 

�����v�� ��� v� ��������o%v) ��� � ��
o	� ������o� 
�!��)���� 

�v"�o�� �
o� ��v ��
o	� ��
� ���" �	� ��o ����v. ��� �v���� 

����o�
��� ��v �v������ ����o
" ������ ��� ��v 
o� �o� ������o�. 

 3�"
	o�v ��"�o
� ��������� ��	����: 

- �vo� �����o� ��'� �v�� ��	���
�� �
o�o�o��� �o��o%� 

����v�
o��, �	��� 7.10. 

- -o��
v ������v, �v�� ��	���
�� �
o�o�o��� ��!� �v� 

�%��v�
o, �	��� 7.11. 

- +����
ov���� 
%!����� ��	��� 

- ��	�v���� 
%!����� ��	���, �	��� 7.12. 

- ��	��� ��' ����/o�� ���������,  

- ��	��� ��ov �%��v�
o �����!���v, �	��� 7.13 

- 5������ ������ (Pinjection » Pi) 

- 3$���� ������: ��	��� ���" �o ���o� ��� ��������� ��� 

��v���� �$���� ������ (��(�!�� ��	�v�� Diesel � FSI) 

- ��	��� 	
ov���o% � �"������: ��!� ��	��� �	�� ����
����v� 

               

1

1.43 1.71 2

2 2
C

c

m P P
 =  = 3.86   -               (7.22)D

m P P

�

� � �

� �� � � �
� �� � � �
� � � �� �� 	

 

 

                        

1

2*
f f f 2

2*
c f

1.73 2(  - )m A P P
F =  =                    (7.22)

m CD A��
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 7.9 

��"
����, o ����	o� ��� ��"
����� ��v�� ����v���� 

	�
����
������ �o� �
��o� 
%!����� ���
���� (metering 

scheme). � 	
ov����� ��� ��	���� ����v" ��� �����
v�� �� 

o
����vo�� 	
�vo�� �o� �%��o�. ���  �� ��������� ��	���� 

�v�o� �o� ����v�
o� ��v�� 	
ov����v� ���������. 

- &�v�	o%� � ��v���� 
o�� o�o� �o ��%���o 
��� ��!' o�ov �ov 

	
�vo  �o� �%��o� ��� ��	�v�� ��� � 
o� 
�!��)���� �� 

����	o ��� ������ �v"v�� �o� ��	���
�. 

�� �v��o
� ��v ����
���� � ��	��� �
o���
�� ��� ���
" ��o 

���ov�������� ���" �� �
���" �$��o �o��o� ����������. ��
��" ��o 

���" ��v��: 

- �%���� ��� ev ��� ��v���� �%���� ��� ��	�o�. ���o ��v���� 

����� ��o����o��� ��v ��
�� ������ (o�����) ��o Venturi, 

�	o��� 	�������
�� ��	%����� ��
�o� ��o ����� ��������� 

(�o�� ���
o��
�v ����ov�v) ��� ��v 	
��")���� !�
��v�� ��v 

����
v �
o������� ��� ��o o�!��� ��"������. 

- ���%��
� !�
���� ��o�o�� �o�� ������
o� ����	o� �o� 

������o� ������o�-��
�. 0
� ��� ������
�� ���o���� 
��
(v. 

��� ���ov ���" ��v ����v��� ��� ��	�v�� � ����ovo�o����-

��"����� ��v ���
�"��� ��o ��� ��
o��� �o� ��
o���o� ��� 

���" ��v ��� 
���v�� � ��
o	� ������o� ��o
�� v� ����o���. 

- �����%��
� �v���
����� ��� ��	�v�� ��o ��v ������o���� �o� 

������o� (������ ��o ��v ��"����� ��v ����ov����v). 

- + 	
ov����v� ��	��� ��o o�!�� ���v ����o�
��� ��
�������vo� 

������o� �
�v ��v �v����, ������ �v� ����� ��o o�o�o o 

�o�o� ������o�-��
� ���� "������ ��o !��� �� !���. -�o���o 

����� �ov�� ��o ���v!�
���� ��� ���	���
o �� ��
���� !����� 

������v�� ��v �"�� ��� �
o������ ��%�� (knock) ���� ��	�v�� 

Otto �� ��	���. 

 �� ������o��� �v� �%����� 	
ov����v�� ��	���� �vo� �����o� 

�� ��
o����o o��� ��o �	��� 7.14 (�������o���o�� ���o�) �� 

���
�o�� �� ��	�v� Otto. &� ��� ���"����� ������ ��ov ����o ��� 

��	�v�� o ��o�o������ ��v�� ������� v� �vo���� � v� ������� � 

 ��ov� �o� ��
o����o� � o�o�� �v�$�v���� �� �����
o���v����� 

��!o�o. + ��
o	� ������o� �	�� �	��ov �
������ �	��� �� ��v 

��"
���� �vo�����o�. *�� ����ov��� 
o� ��o �o ��
o����o, � 

��
o	� ������o� �� ��� ��
�o�o �vo�����o� ������� ��o: 



 

 

 
 7.10 

o�o� 2. � ����o
� ������ ��� ������ ��
o	������� ������o� ��� 

��� ������ ��
� �v�v�� ���o��� �����o����. ��v ��!o
��o��� ��� 

���� ����o�� 
o�� �o� ��
o����o�: 

�	o���: 

 

o�o� 2t ��v�� � ��"
���� �vo�����o� ��� ����o��� ��
o����o�. ��� 

������ �	���, t)f( = m f �� , ������� ��o ���
�������� ���
����� ��� 

��� ������
���v� ��"���� ��o �	��� 7.15.� ��!o
����� �o� 2t 

������� �v��� �o� ���!����o� �o�o� ������o�-��
� (F) ��� ��� 

�")�� �o� ��
� (m� � ). ��o �����
���� �	����� ��o
�� v� 

��!o
��!�� �o ev ��v�
����� ��v #i, .i, #$�����o� ��� �o� ���
�v��� 

��o ���!���
��. + ��)� �o� ��
� �v� 	
ovo ��������� �o�� 

��o�o��)����: 

��� ��  ���� ��v ���
o�o
��v �o� ���ov��� ��o computer ��� ��� 

��v!���� ����o�
���� ��� ��	�v��, ���������� ��o �v� ��v��� ��� 

���� ��� �o F ��� �����ov��� ��� �o 2t �	o���: 

�v�� ���o� �
o�o� v� ��!o
��!�� �o 2t ��v�� v� ����������o��� 

�v� ���!���
� ���v ��	�v� �o� v� ���
� �o ��������o m�� . &' ���� 

��v ��
������ ��� ���
�	
ov� ��	�v�: 

 

t t

*
f fff

0 0

 = (7.23)m m A dt = 2  P  dt                      

� �

�� �� �  

 

 dt A 
t

1
 = A

*
f

t

0

f �
�

�
 

 

              f ff
 = 2  P  t                                 (7.24)m A
 � ��  

 

 (7.25)                                  
F + 1

 sb 
4

  e
 = m

2

iv

�



�  
 

 (7.26)                                  
A P  2

m F
 = t

ff
�

�



�
~
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� �
�!�o� ��v ����v�
�v ������
	���� ���v ������� ��o�� o 

��	���
�� �v�
�o�o������ ��� �o
� �v� �v� 	
ovo ��������� ��� 

�v� ����v�
o. � ��
���v 1/2 ������
	���� ����� ��o ��
������� 

���� ���
	o�v ��o ��	���
�� �o� �����
��o�v o�o�� �o�� 

����v�
o��. + ��	��� �o���v ������v ��v �����
�� ��o �� �v���
�. 

-
���� �o�� v� �� o��� ��o$�v ��� o�� ���
	�� �v�� ��	���
�� ��� 

��!� ����v�
o ��� � ������� 7.26 ��	��� o��� ��� � ������� 7.27 

	�
�� �o 1/2 6c.  

 *�� ��v�	� (�ov���) ��	��� � ������� 7.23 �v����!������� 

��o ��v: 

��� ��� � ����� �o� ������o� 
�!��)�� ��v ��
o	�. �v� ��
������� 

��������o� �vo� �����o� ��v�	o�� ��	����� ���	v���� ��o �	��� 

7.12 ��� ��� � 
o� �o� ��
� ��o
�� v� ��o�o���!�� � ���
�!��. + 

��o�o��)o��v� ��
�o
o� ��� ���
�	
ov� ��	�v� ��v��: 

5
����o�o��v��� ���� ���
���v� ���� ��o�o�����v� ��
�o
o� o 

��o�o������ ��!o
�)�� ��� ����� ������o� �o� !� ��
���� �o ����o 

�o�o ������o�-��
� ��� ���o��v�� ��v!���� ����o�
����. ���o� ��o 

��v �����
ov��� ��	��� �� ��	�v�� SI ���
	��  � ���� ��� � 

��	�v��� o��� ���	v���� ��o �	��� 7.12 ��� ��
�������. � 

����
	o��vo� ��
�� �v��o�� �� ��v ��
o	�, ���v�
��� ���v� �� �v� 

�����
� ��v������vo �� �v� �o	�o o o�o�o� �v�
�o�o��� �v� 


�!����� ������o�. 

 #� ��������� ��	����� ��v ��	�v�v Diesel 	
����o�o�o�v �o�� 

�$��'��
�� ������� ��	����� ��� ��o �o�o��: 

1) + ����� �o� ������o� �
���� v� ��v�� ��������
� ��o ��v 

����� ��������� ��� v� ������	!�� � ��	���. 

2) *�� v� �	�� �o ������o �$��� �	����� ��	����� �� �
o� �ov 

��
� ��� �� ����ov���� v� ��������o�v �
��o
� ���� ��'( 

 (7.27)                            

A P  2 R N
2

1

m F 2
 = t

ffsc �
�




��
 

 

 (7.28)                              A )P - P( 2  = m ffff �
�  
 

 (7.29)                                      
F + 1

V  e
 

2

R
 = m

divs 

��  

 



 

 

 
 7.12 

�%��(�
'. 

 ��
 ������ o �����!���vo� 	
ovo� ��� �ov �	�������o �o� 

������o� ��v�� �	����" ���
o� ��v�� ��v�o�� �v������ ��� 

��
������ ��
� (���	���o� �o�o� ��)
v ��
�-������o� 18:1-25:1) 

��� ��v �������� ������� ��%���, �
"��� o��� �o� o����� �� 

������v� �����v�
��� ��	�o�. #� �	��� 7.11 ���	v�� �v� �%����� 

��	���
� ��� �o ��
o����o o�o� � �v�$��� ����  ��ov�� ����
���� 

��v ��	��� �o� ������o�. 3�o!���v��� ����ov��� 
o� �	o��� ��v 

�")� ������o�, f f

s

1
 =  2  P   m A

2 R

�



�
�

�� . ���� � ���
��� ��v�� ���� �� 

���� ��� ��. 7.24 ���o� �o� o�� �o 2t ���
")���� ��v�
����� ��� 

���� o��� ��� ��v��� �o� ��
o���o� ���" ��v ��"
���� ��� 

��	����. ���v���� o�� ��� v� �����
�!�� �o 2! ���!�
o ��!�� �o 

Rs ���� "������ �
���� v� ����!�� � ������!�� � ����� �o� 

������o� ��� v� �����
�!�� ���!�
� � mf. &��� ��	�v�� Diesel � 

��	��� ��v���� �����!���v ��ov ����v�
o ��� ������ � ����� 

��	���� �o� ������o� ��v�� �o�� �����%��
� ��o ��v ����� �o� 

����v�
o� � ����� �o� ��	�o��vo� ������o� �
���� v� ���� "������ 

�� �o ���
���vo ��v ��
o��v ��� ��	�v�� ������ 2

f sPP R� � �  ��v 

mf, 2! = ct. ��
 ������ ��� �o �
� ���� ���������� ��	�v�v 

Diesel �o� (� �
�")ov��� �� �����o ��
o� ��
o�
v. -.	. 

��� ��v �� 	������ ��
o���, .fmin=50bar, 	
���)����, ��� ���� 

����ovo�o���� ��� ��������� ��ov !����o ������, Pfmax=1250bar! 

��� �o �o��o� ���������� ����v�� �
�������. + �����
ov��� ��	��� 

��o�	���� �o��� ���v ���� ���o� �o� �
o �����o� ��!�� o��� 

������ � ���� �v�
�o� ����o�� �o� ��
o����o� �o� ��	���
� ��o
�� 

v� ���
��!�� �� 

��� ���� ���ov��� �o �
o��� �f(!) ��� ���� o��� ��� �v�$���� ��� 

 ��ov�� ��v�
����� �o� Rs, �o A f
 ��o
�� v� ���o����v���� �� �o 

Rs. 

 
max max

min min

s f  

s f  

R P
     5    25

R P
��� � � �  

 

 �
�

�
d A 

1
 = A f

0

f �
�

�
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 =  s

($%)�-
!�#!�
�!�.�'&�'&���)-�$!���� �
#�)(�#�(
�#�)�!$

��
����!$��
!"�#�$!�� �

��
.�'&��!-!�'  
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 c

    
  =  = R

    

�� � ���)-�$!���'& �!�.�'& �#!� ($%)�-
!
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Acylinder=�/4Dcyl

2
 

Pu=����� ���  �� ��� 
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